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Your Partner in Cable NieAZ

CERTIFICATE OF CONFORMITY

Project NO. : ZHCH2011-1580 Test By: No.5

Standard: IEC Length: 4240 m
Type: OPGW-252/48B1 G.W.: 2750 kg
Specification: 0/93-55.3 N.W.: 2523 kg
Manufacturing date: 2011-12-7 Ex-Work NO.: 1

All the test results meet the technical requirements of ZHCH2011-1580.
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Your Partner In Cable

CERTIFICATE OF CONFORMITY

Project NO. : ZHCH2011-1580 Test By: No.14
Standard: IEC Length: 3400 m
Type: OPGW-2S52/48B1 G.W.: 2240 kg
Specification: 0/93-55.3 N.W.: 2023 kg
Manufacturing date: 2011-12-5 Ex-Work NO.: 2

All the test results meet the technical requirements of ZHCH2011-1580.

Zhongtian Hitachi Optical Fiber Cable Co.,Ltd
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CERTIFICATE OF CONFORMITY

Project NO. : ZHCH2011-1580 Test By: No.5
Standard: IEC Length: 3100
Type: OPGW-2S52/48B1 G.W.: 2070
Specification: 0/93-55.3 N.W.: 1844
Manufacturing date: 2011-12-6 Ex-Work NO.: 3

All the test results meet the technical requirements of ZHCH2011-1580.

5

4]

Quaif‘-\ski{:oﬁtrgi;:[)g?»

4 a3
Zhongtian Hitachi OfficAl Fibe

A7

%

kg



ZTT =
mEH i -

Your FPartner in Cable

CERTIFICATE OF CONFORMITY

Project NO. : ZHCH2011-1580 Test By: No.11
Standard: IEC Length: 5000 m
Type: OPGW-252/48B1 G.W.: 3210 kg
Specification: - 0/93-55.3 N.W.: 2975 kg
Manufacturing date: 2011-11-30 Ex-Work NO.: 4

All the test results meet the technical requirements of ZHCH2011-1580.
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Your Partner In Cable

CERTIFICATE OF CONFORMITY

Project NO. : ZHCH2011-1580 Test By: No.11
Standard: IEC Length: 4680
Type: OPGW-252/48B1 G.W.: 3010
Specification: 0/93-55.3 N.W.: 2784
Manufacturing date: 2011-12-5 Ex-Work NO.: 5

All the test results meet the technical requirements of ZHCH2011-1580.
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Your Partner In Cable

CERTIFICATE OF CONFORMITY

Project NO. : ZHCH2011-1580 Test By: No.3

Standard: IEC Length: 4250 m
Type: OPGW-252/48B1 G.W.: 2760 kg
Specification: 0/93-55.3 N.W.: 2528 kg
Manufacturing date: 2011-11-30 Ex-Work NO.: 6

All the test results meet the technical requirements of ZHCH2011-1580.
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Your Partnier in Cable

Number : BY11-11-2011
BY/ZHC10304 (0)

OPGW EX-WORK TEST REPORT

OPGW Type: OPGW-252/48B1(0/93-55.3)
Contract NO.: W11340

Project Name: MANNIKS.COM Oii Project
Client: MANNIKS.COM O

Zhongtian HitachiO)

JVABY11-11-2011 ZhongTian Hitachi Optical Fiber Cable Co.,Ltd.
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Your Partner In Cable

1.0PGW CABLE EX-WORK LIST

OPGW TYPE: OPGW-252/48B1(0/93-55.3)

ss._,,»

o

Serial Remark Length of Serial etk Length of
number drum (m) number drum (m)
01 1 4240 04 4 5000
02 2 3400 05 5 4680
03 3 3100 06 6 4250
Remark: Total length 24670 m.

1.Test Standard: IEC 61394-4-1,IEEE 1138 and DL/T832-2003.
2 Sampling Method: Full test of attenuation, and other items accordi

3.Conclusion: The above goods after tested are QU

requirement of contract. Allowed to leave the factory.
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ZhongTian Hitachi Optic Fiber Cable Co.,Ltd.
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Your Partner In Cable

2. OPGW and Component Wire Performance Test Report

Item Unit Stan.dard Test result |Judgment
Requirment
2.4 +0.04 2.403 Qualified
Diameter mm
3.0£1.5% 3.002 Qualified

=1340(2.4mm) 1421.63 Qualified

Tensile Strength Mpa

>880(3.0mm) 971.89 Qualified
Stisss at 1% " >1200(2.4mm) 1286.42 | Qualified
elongation >650(3.0mm) 75969 | Qualified
Component| AS Elongation at % S15 2.1(2.4mm) | Qualified
Wire | Wire breaking T 2.3(3.0mm) | Qualified
<84.8(2.4mm) 82.86 Qualified
20°CResistivity nQ-m
<57.47(3.0mm) 55.69 Qualified
47(2.4mm) | Qualified
Twist cycles =20
45(3.0mm) Qualified
Min. thickness of - =0.120(2.4mm) 0.126 Qualified
aluminium >0.225(3.0mm) 0.232 Qualified
Diameter of the OP Unit mm 24 £0.05 2.40 Qualified
verall Diameter of NN .
OPGW mm 132540 ! Quahfred
Finished | Lay Inner layer / 10~16 . Qualified
OPGW | ratio | outer Layer / 10~14 _ Dualified
Derection of outer Layer / Right "Right =,| Qualified
Surface Condition / Good Sood | Qualified
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4. OPGW Mechanical Characteristics Test

OPGW TYPE OPGW-2S2/48B1(0/93-55.3)

Test ltem

Unit

Standard & Requirement

Test Result

Conclusion

| Stress-Strain

| dB/km

IEC 60794-1-E1

EN 187000/501

‘Under 40%RTS load, additional
‘attenuation of optical fiber,0.00
Under 75%RTS load, additional
attenuation of optical fiber <0.05

Under 40%RTS load, additional
attenuation of optical fiber,0.00
Under 75%RTS load, additional
attenuation of optical fiber <0.05

Test

%

|IEC 60794-1-E1

'EN 187000/501

Under 40%RTS load, additional
attenuation of optical fiber,0%
'Under 75%RTS load, additional
’attenuation of optical fiber <
0.33%

Under 40%RTS load, additional
attenuation of optical fiber,0%
Under 75%RTS load, additional
attenuation of optical fiber <
0.33%

Qualified

" Tensile Test

IEC 61089
‘Under not less than 95%RTS ,
without fracture of any wire.

Under 100%UTS, No Strand
Wire broken

Qualified

Crush Test

~ Impact Test |
|

dB

dB

IEC 60794-1-E3

EN 187000/504

fUnder short tension10000N,
‘Absolute value of additional
}attenuation in fiber <0.10

Fiber attenuation <0.03

Qualified

gIEC 60794-1-E4

'EN 187000/505

Drop Height: 1 meter; Weight:
4. 5Nm, Times: 3 times, Absolute
value of additional attenuation in
fiber =0.1

Fiber attenuation <0.1

Qualified

| SheaveTest ;
!

dB

IEC 60794-4-1

Puling angle: 30C ;

Pulling load: 15%RTS;

Number of cycle: 3 cycles;
Pulley diameter: not less than 40
times of the OPGW diameter;
Added attenuation: < 0.1dB at
1550nm

Fiber attenuation <0.1

Temperature
' Cycleing Test |

dB

IEC 60794-1-F1.

Temperature range:-40/+80 °C;
Duration of time is 12h at each
|extreme temperature point;
Time of one cycle: = 24h;
Number of cycles:2 ;

Qualified
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5.0ther Te

st

OPGW TYPE: OPGW-282/48B1(0/93-55.3)

Test Item Requirement Test Result Conclusion
| Overall Diameter 13.2¢1%D 13.2 mm qualified
I

Cross section 93+ 2% 93 mm? qualified
: Unit weight 595+ 2% 595 kg/km qualified
i The surface of the conductor
. shall be free from all
' Appearance of Conductor imperfection visible to the qualified qualified
unaided eye(normal corrective
lenses accepted)
Adjacent wire layers shall be
stranded with reverse lay
Lay Direction directions. The direction of lay of qualified qualified
the external layer shall be “right
hand”.

Test standard:IEC 61089; IEC60794
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6.Packing List

| Ex-work number Delivery drum number Net length(m) require length(m)
i_ 01 : 1 4240 4240
02 2 3400 3400
| 03 3 3100 3100
04 4 5000 5000
05 § 4680 4680
' 06 | 6 4250 4250




